>
A & 0l & AF 2 E A A
20229 & Z0lA LB H MEST W
SN XD
HE: HASSE MEOUY B3
& AYMEST X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ME =T 0t 150,389,344 140,001,934 10,387,410
= 99,192,623
s 3,481,209
= 13,018,858
Al 34,696,654
MNASE 480y 2% 132,389,410 114,844,600 17,544,810
= 98,997,009
s 3,481,209
< 10,492,643
Al 19,418,549
AN E =R K& 15,426,639 12,485,243 2,941,396
= 1,152,900
< 1,792,975
Al 12,480,764
A EX2 29 3,166,168 3,050, 184 115,984
307 21201 A 3,166,168 3,050, 184 115,984
05 RIZt2IEt = 1,981,568 1,886,440 95,128
OAME SR & 1A 1,735,568
OAMsl =X & 294l 246,000
10 ALSISXAIEEE2GHEX 1,184,600 1,163,744 20,856
OAtEI S X2 el AH| 1,140,600
OAMsI =X & 294l 44,000
M EXZ BN EEY 91,800 92,520 AT20
< 27,540
Al 64,260
307 glz2tol & 91,800 92,520 AT20
< 27,540
Al 64,260
11T MISXASER 91,800 92,520 AT20
OAMEISX& SAA S8 91,800
< 27,540
Al 64,260
M3 EX& NSSX 2208 22| 50,000 50,000 0
= 10,000
Al 40,000
307 21201 A 50,000 50,000 0
= 10,000
Al 40,000
11T AL S XAEE = 50,000 50,000 0
OAMEIEX& XNG=X 2208 29| 50,000
< 10,000
Al 40,000
M EX2 HAZZOH 2HA 20,000 20,000 0
307 glz2tol & 20,000 20,000 0




AN MESID
M HASE MEOE P
& AYMEST X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
11T M SRASE EX 20,000 20,000 0
ON=SE M =X 2 4,000
ONF=ZSE M =X 2 4,000
OESIEEAa =X 2 4,000
Ostat S e ALe S X2 4,000
OHUMESE A= 2 4,000
M E2XZ JIsE2 49,500 500,439 A 450,939
= 14,850
Al 34,650
402 RI2EX =20l A 49,500 500,439 A 450,939
< 14,850
Al 34,650
02 U2 THEALEZ(0IETHR) 49,500 500,439 A 450,939
OAtsl =X JlsE2Z 49,500
< 14,850
Al 34,650
S0AE 2 (HMEAY) 1,092,220 1,016,526 75,694
< 902,037
Al 190,183
307 21201 A 1,092,220 1,016,526 75,694
= 902,037
Al 190,183
10 ALSISXAIEEE2IHEX 1,092,220 1,016,526 75,694
OL=0AE 24 1,092,220
< 902,037
Al 190,183
=0IAE A2 (A &) 27,000 27,000 0
307 gl2tol & 27,000 27,000 0
05 BIZHRI & 3 27,000 27,000 0
OL=0 A4 Atz (At &) 27,000
=% BSHl(EH) 733,493 733,493 0
= 220,048
Al 513,445
307 glz2tol & 733,493 733,493 0
= 220,048
Al 513,445
11T MISXASEX 733,493 733,493 0
=X BESHl(EH) 733,493
< 220,048
Al 513,445
=OAIE LAESH K& 13,600 13,600 0
301 LA F 13,600 13,600 0
01 AR 2Z A 53 13,600 13,600 0




SN XD
HE: HASSE MEOUY B3
EHe: AQIME=SI XS (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OL =0 AAEBS MAHH XA 11,560
OL =0 AAES HZ&YH X 2,040
L=0AE JsE2 1,934,300 11,180 1,923,120
= 1,152,900
o= 576,450
Al 204,950
401 AlEHIZL 201 Y| 1,914,500 0 1,914,500
= 1,143,000
= 571,500
Al 200,000
01 Al&H| 1,914,500 0 1,914,500
OL=QAE JDisER 1,914,500
= 1,143,000
& 571,500
Al 200,000
402 SI2vXHE0| & 19,800 11,180 8,620
= 9,900
& 4,950
Al 4,950
02 1IN E AL E X (0| M THS) 19,800 11,180 8,620
OE=QAA JIsEY 19,800
= 9,900
== 4,950
Al 4,950
AMNIIE2XAF ELWSH XH 30,352 30,352 0
307 212t0| & 30,352 30,352 0
11 A EXAIEE X 30,352 30,352 0
OASIEXAI EL1W=H XS 30,352
MESXAF SXHE & 27,600 81,300 A 53,700
307 2Iz2to| A 27,600 81,300 A 53,700
11 A EXAIEEX 27,600 81,300 A 53,700
OAMS=2EXA EX2tE XS 27,600
A2 XA S0lel &sdl X& 11,000 11,000 0
307 2iz2to| A 11,000 11,000 0
11T A EXAIEEX 11,000 11,000 0
OA3I =2 XAl S0t2] &=H| XN& 11,000
ASISEXN AN 25 R 20,000 20,000 0
201 et 20,000 20,000 0
01 AP 2t 2] H| 20,000 20,000 0
OMISXA G235 D= 20,000
MNIIEXAE SAIA HSSFASIAIS 124,000 124,000 0
201 et | 24,000 24,000 0
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AN MESID
M HASE MEOE P
& AYMEST X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 30,000 30,000 0
01 At 22l 30,000 30,000 0
O=XAY 43t 30,000
OlMel R34l XA 25,000 34,000 A 9,000
< 25,000
201 L2l 5,000 5,000 0
< 5,000
01 At 22l 5,000 5,000 0
OO0ITHE! =l 5,000
< 5,000
301 LEBAF 16,000 25,000 A 9,000
= 16,000
01 Mel28E +06l= 16,000 25,000 A 9,000
OO0ITHE! RS Hl 16,000
< 16,000
307 glz2tol & 4,000 4,000 0
< 4,000
02 It M AHEE 4,000 4,000 0
OO0l R SH 4,000
< 4,000
Fojel 3s2X0101 28 98,840 0 98,840
307 21201 A 98,840 0 98,840
06 23 98,840 0 98,840
OFoe MsEX010 28 98,840
ZOHO MNSEEHFP OFZHEX & 5,000 5,000 0
201 LEr2 Y| 5,000 5,000 0
02 =24l 5,000 5,000 0
OFHe MSEEHF OFZHX B 5,000
IRASHS A 129,000 76,000 53,000
= 17,050
Al 111,950
307 glz2tol & 101,000 76,000 25,000
< 10,050
Al 90,950
11T M SRAISE EX 101,000 76,000 25,000
OJIRASHSAY 101,000
< 10,050
Al 90,950
402 QI2EXt20l ™ 28,000 0 28,000
< 7,000
Al 21,000
02 RIZEXt 2 AL EZ (01X ) 28,000 0 28,000




SN XD
HE: HASSE MEOUY B3
& AYMEST X (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OJIRASHSAY XH&RA 28,000
< 7,000
Al 21,000
HFA NGAZEEHE HREL 30,000 0 30,000
207 A RO H| 30,000 0 30,000
01 289 30,000 0 30,000
OHM5I MFA XNSEASIBEEHAHE ARESA 30,000
SR Sgsla A 3,000,000 2,000,000 1,000,000
401 AIEBIZ 201 8I 3,000,000 2,000,000 1,000,000
01 A& HI 3,000,000 2,000,000 1,000,000
SE2A SgEN2 HE 3,000,000
HASE NMUIA XA 116,962,771 102,359, 357 14,603,414
= 97,844,109
s 3,481,209
< 8,699,668
Al 6,937,785
HH =0 103,712,726 90,829,817 12,882,909
= 93,341,454
< 7,259,891
Al 3,111,381
301 getEd 3 103,712,726 90,829,817 12,882,909
= 93,341,454
< 7,259,891
Al 3,111,381
01 MI2EZE 06z 103,712,726 90,829,817 12,882,909
O=eD|=Max=g i MASH 103,712,726
= 93,341,454
< 7,259,891
Al 3,111,381
I ZMELET WESH 90,570 72,552 18,018
308 XXM S0l A 90,570 72,552 18,018
08 WEII20HStE X 90,570 72,552 18,018
O=0|z=dgx=5i nEs: 90,570
HAtE T = 0 460,307 376,497 83,810
2 414,277
= 32,221
Al 13,809
301 LEAF 460,307 376,497 83,810
2 414,277
< 32,221
Al 13,809
01 Al EE X =06l = 460,307 376,497 83,810
o= =& oH&E S 460,307
2 414,277
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SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
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Ol
0y

H

32,221
Al 13,809

A€ JZde=2TAME 144,000 132,640 11,360
72,000
Al 72,000

t

301 Let2H = 144,000 132,640 11,360

72,000
Al 72,000

H

01 A28 H =62 144,000 132,640 11,360
S I zdE2F MY 144,000

72,000
72,000

= N

==X XA 3,926,447 3,969,847 A43,400
3,141,157
314,116
471,174

= H W

wW
<
e
c
HL
o
oy

3,926,447 3,969,847 N43,400
3,141,157
314,116
471,174

= MW

01 Al 2& A =063 3,926,447 3,969,847 A43,400
O2s=k X 3,926,447
3,141,157

314,116
471,174

= N W

NAEE ASIMHIA SEXAL 4,972,467 4,870,734 101,733
3,481,209
497,247
994,011

Z M

201

e
1
H0
02
=

1,954 1,954 0
1,368
196
390

= N

01 At2 22l bl 1,954 1,954 0
OXNYGXEE ASIMHIA SEXAS 1,954

1,368
196
390

= N[

202 044l 1,050 1,050 0
735
105
210

= Hn

01 SLHOYI 1,050 1,050 0
OXNGAXEE MaMEIA FEXALS 1,050
735

1056
210

= N




PN HESIIB
HE: HASSE MEOUY B3
el MASSE MHlA X2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
403 UHXSHHSA=0l& 4,969,463 4,867,730 101,733
s 3,479,106
< 496,946
Al 993,411
02 S 2S00 HE A2 X 2 & AL H 4,969,463 4,867,730 101,733
OXNEXE88 MIMEIA EXALS 4,969,463
s 3,479,106
= 496,946
Al 993,411
d=g sUul=EX =& 105,000 105,000 0
307 glz2+ol & 105,000 105,000 0
11T MISRASEX 105,000 105,000 0
OHY=SUSII AL 105,000
g m= 0t0l 8ls &0t & 678,900 678,900 0
301 LeEBAF 678,900 678,900 0
12JIE243 678,900 678,900 0
O A= & HEHE HHE 678,900
HASEE dEerd X2 40,000 40,000 0
301 gEd = 40,000 40,000 0
01 Ml2EZE 6= 40,000 40,000 0
OMASIHE K& 25,000
OAMA=SXAE X3 15,000
SEY EYHRESHH 2SN 188,400 180,370 8,030
< 37,680
Al 150,720
307 21201 A 188,400 180,370 8,030
< 37,680
Al 150,720
11 AR S XA E =X 188,400 180,370 8,030
OMEEXNMNEELH 29 188,400
< 37,680
Al 150,720
A NGASEEEAN 2 226,000 226,000 0
301 LEMZ 126,000 126,000 0
12IJEEd=S 126,000 126,000 0
Os NAAEHEAM 29 126,000
307 glz2+ol & 100,000 100,000 0
10 ALSISEXAIEEE2EHEX 100,000 100,000 0
OFF=Al NGAMAEEHE2AXN 22 100,000
NAMEHEAH B N 1,000 1,000 0
< 300
Al 700




A =X
M HASSE MEOE BE
HASSE AU~ X2 SiE)
- - g
S EH -G (EA) - RN - BES Ol &t e 2
201 LB-2d| 1,000 1,000 0
< 300
Al 700
01 At 22|l 1,000 1,000 0
OXNGASEEEAM W= 1,000
< 300
Al 700
M3 =X & A XI& 11,000 11,000 0
307 glz2tol & 11,000 11,000 0
11T AISI S XA E X 11,000 11,000 0
OAMEISEXIS & &AL XA 11,000
ANz SeAd 22 K& 24,000 24,000 0
= 12,000
Al 12,000
201 L2l 9,600 9,600 0
= 4,800
Al 4,800
01 At 2t 2|l 9,600 9,600 0
OAZ7? Sgatdlzel XIA 9,600
= 4,800
Al 4,800
202 04 HI 2,400 2,400 0
= 1,200
Al 1,200
01 2 LHAYI 2,400 2,400 0
OANZ+ SEAtdl2tel N3 2,400
= 1,200
Al 1,200
301 LEHF 12,000 12,000 0
= 6,000
Al 6,000
01 MEIBEE 263 12,000 12,000 0
OANZ7 SeAtdlztel X3 12,000
= 6,000
Al 6,000
SEtAte ZelAb XA (& AHU0IA 4,800 0 4,800
= 2,400
Al 2,400
101 14 dl 4,800 0 4,800
= 2,400
Al 2,400
03 BRI (RINAHAY)2=HES 4,800 0 4,800
O8¥AMHUIOIN 28 =Y 4,800
= 2,400
Al 2,400




SN MBS
HE: HASSE MEOUY B3
??: HASE MHIA X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Sgs %EE SEgAMdA XA 294,000 294,000 0
2 205,800
Al 88,200
201 £B-2d| 117,600 117,600 0
= 82,320
Al 35,280
01 At 22/l 100,492 100,492 0
OsHs ¥EE SEAMHIA X 100,492
2 70,344
Al 30,148
02 2324l 17,108 17,108 0
OSHES XFE SEAMHIA XNE 17,108
= 11,976
Al 5,132
301 EEMZ 176,400 176,400 0
= 123,480
Al 52,920
01 MI2EZE 06z 176,400 176,400 0
OstHs ¥EE SEAMHIA XY 176,400
= 123,480
Al 52,920
HFA SRAME d=AE 29 574,000 540,000 34,000
306 EH3 574,000 540,000 34,000
01 &3 574,000 540,000 34,000
ONFAl SEXME A 23 574,000
HE2H ANEIISEZAE(E 20 0a) 50,000 0 50,000
< 50,000
402 RIZ2HXt20l M 50,000 0 50,000
< 50,000
02 RIZt X2 AL EZ (01X ) 50,000 0 50,000
OHEH=2Y AEIIsELAMY 50,000
< 50,000
T2LHY MET A AL 1,454,042 0 1,454,042
= 727,021
< 436,213
Al 290,808
301 2N = 1,454,042 0 1,454,042
= 727,021
= 436,213
Al 290,808
01 MBI SR 252 1,454,042 0 1,454,042
ORZLHI MEX Al A 1,454,042
= 727,021
< 436,213
Al 290,808

o
|




2N
X ZH -
L= B

el

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
H=e3z e-delSEAMHIA XA 5,112 7,000 A 1,888
201 £B-2d| 5,112 7,000 A 1,888
02 3323l 5,112 7,000 A 1,888
Od=ed e~ REANHIA XI&A 5,112
XFAs =elsd 35,215 10,615,500 A~ 10,580,285
= 29,000
< 6,215
LolskAd XA 35,215 10,615,500 A~ 10,580,285
= 29,000
= 6,215
d=Sotd 2 SotE SEUsALE 35,215 9,615,500 A 9,580,285
= 29,000
S 6,215
401 Al I 28I 35,215 9,615,500 A 9,580,285
= 29,000
< 6,215
01 A& HI 35,215 9,611,250 A9,576,035
OXFS3d ¥ SHY SEUSAY 35,215
= 29,000
< 6,215
oy - ots=EX 52 188,155 1,623,993 A 1,435,838
SXUANE XN (6L - 0rs - I E) 188,155 1,623,993 A 1,435,838
SESAFE Jelel22E ALY 188,155 1,623,993 A 1,435,838
401 Al& Bl 28I 188,155 1,623,993 A 1,435,838
01 A& HI 188,155 1,623,993 A 1,435,838
Ooeold Delel22E Ay 188, 155
=JtEE=2e 6,326,918 3,163,111 3,163,807
< 2,520,000
Al 3,806,918
Bsaa 6,326,918 3,163,111 3,163,807
< 2,520,000
Al 3,806,918
2+ A& 3,456,000 2,493,360 962,640
< 1,200,000
Al 2,256,000
301 LEEAS 3,456,000 2,493,360 962,640
< 1,200,000
Al 2,256,000
01 ALl EE E 563 3,456,000 2,493,360 962,640
oEE=" K& 3,456,000
< 1,200,000
Al 2,256,000
OIAMATH =2 K& 5,040 5,760 AT20
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SN XD
N 2)2EB
el BEBL (S5 &)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 MI2EZE+06l= 93,878 97,291 A 3,413
OEsHH LXtel ALY 93,878
EEAE BH & B 323,500 53,000 270,500
206 M= Hl 5,000 3,000 2,000
01 MHZ 4l 5,000 3,000 2,000
028 L TAS Yo 5,000
401 AIEHIZL 2CHYI 318,500 50,000 268,500
01 A& Hl 318,500 50,000 268,500
OZZEX & SESANL S&3FH| 20,000
O=ZdBX B9 2= 298,500
HESEH2SAHANZ 29 40,000 40,000 0
< 20,000
Al 20,000
307 21201 A 40,000 40,000 0
< 20,000
Al 20,000
11T M3 SXAISEEX 40,000 40,000 0
OF=ES=SEH2sTANS 2 40,000
< 20,000
Al 20,000
dF=A B2 2EXH 35,000 35,000 0
201 £B-2dH| 30,000 30,000 0
01 At 22l 15,000 15,000 0
OEFA B232 2N 15,000
02 23224l 15,000 15,000 0
Od==Al BE232 2N 15,000
401 AIEBI L 20HEI 5,000 5,000 0
01 A& tl 5,000 5,000 0
OdFA 2232 NERIE=s 5,000
dFA EE2EZ2 24 & S HE 1,930,000 0 1,930,000
= 1,300,000
Al 630,000
401 A& HIZ 201 I 1,930,000 0 1,930,000
< 1,300,000
Al 630,000
01 A& HI 1,930,000 0 1,930,000
OEe3sd =48 & == 28 1,930,000
< 1,300,000
Al 630,000
HY2HAH (HE=X ) 885,900 901,470 A 15,570
= 166,614
Al 719,286
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AN MESID
M HY2IZH (MESI D)
¢ Jl2du (MEsX D) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
03323 % HA 8,000
202 oddl 22,100 43,320 A 21,220
01 = LH 4 1l 22,100 43,320 A 21,220
OJleg =80l 22,100
203 YR =&l 6,900 7,500 A 600
01 JI22E 2= 3,300 3,300 0
osXszd=y 3,300
04 FN2ELSZ=TH| 3,600 4,200 A 600
ORN2EYE=AHI 300,000& 122 3,600
HPEs(MHaE=sX ) 10,563,746 8,853,260 1,710,486
WEAHH XIS (HE=X 1) 10,563,746 8,853,260 1,710,486
WEHAXNE(AZS0HISSLIH AES) 10,563,746 8,853,260 1,710,486
701 JIEtSI HETES 10,563,746 8,853,260 1,710,486
01 JIEtSIHE &S 10,563,746 8,853,260 1,710,486
OA=2=0WII=SEsH & 10,563,746




